

### Vulnerable Myocardial Interstitium in Patients With Isolated Left Ventricular Hypertrophy and Sudden Cardiac Death: A Postmortem Histological Evaluation

Balaji K. Tamarappoo, MD, PhD; Benjamin T. John, MD; Kyndaron Reinier, PhD, MPH; Carmen Teodorescu, MD, PhD; Audrey Uy-Evanado, MD; Karen Gunson, MD; Jonathan Jui, MD, MPH; Sumeet S. Chugh, MD

**Background**—Concentric left ventricular hypertrophy (LVH) is independently associated with increased risk of sudden cardiac death (SCD). Some animal models of LVH display specific alterations of the myocardial interstitium that could increase myocardial vulnerability to ventricular arrhythmias, but these merit evaluation in humans with LVH and SCD.

*Methods and Results*—Twelve consecutive patients with isolated LVH and SCD (LVH+SCD) in the absence of hypertrophic cardiomyopathy, coronary disease, or other cardiac structural abnormality were ascertained in the Oregon Sudden Unexpected Death Study. Detailed postmortem comparisons were conducted with 18 controls who had isolated LVH and unnatural deaths (Control Group A) and 6 controls who had structurally normal hearts and unnatural deaths (Control Group B). Postmortem left ventricular myocardial sections were obtained for measurement of collagen volume fraction, characterization of gap junctions, and quantification of collagen subtypes. Heart weight normalized to body weight was higher in LVH+SCD cases ( $6.9\pm1.2$  g/kg) than in Control Group A ( $5.3\pm1.4$  g/kg) and Control Group B ( $4.2\pm0.3$  g/kg); *P*=0.001. Collagen volume fraction was also higher in LVH+SCD cases ( $3.1\pm0.4$ ) than in Control Group A ( $2.3\pm0.4$ ) and Control Group B ( $1.6\pm0.3$ ); *P*=0.0002. The relative amount of collagen III was significantly higher in LVH+SCD cases ( $33.0\pm4.4\%$ ) than in Control Group A ( $20.9\pm4.3\%$ ) and Control Group B ( $1.3.4\pm3.5\%$ ); *P*=0.0001. There was an overall increase in the number of connexin 43-labeled gap junctions with increasing myocyte size. No subject was found to have high-risk hypertrophic cardiomyopathy mutations.

*Conclusions*—In addition to the expected increase in myocardial mass and overall collagen content, SCD with isolated LVH was associated with relative abundance of type III collagen, a novel finding that warrants further mechanistic evaluation. (*J Am Heart Assoc.* 2012;1:e001511 doi: 10.1161/JAHA.111.001511.)

Key Words: death, sudden • collagen • hypertrophy • myocardium • remodeling

eft ventricular hypertrophy (LVH) is an independent risk factor for sudden cardiac death (SCD),<sup>1-3</sup> a major cause of death in the United States and around the globe.<sup>4,5</sup> The increased risk of SCD in LVH is due to increased propensity for ventricular arrhythmias, and we have recently reported the likely existence of distinct pathways that increase risk of arrhythmogenesis with LVH.<sup>2</sup> The elucidation of these pathways

Received February 27, 2012; accepted April 24, 2012.

is likely to be an important step for developing enhanced methods of prediction, prevention, and therapeutics in patients with LVH. Because the prevalence estimates of LVH in the general population are as high as 16%,<sup>6,7</sup> the public health implications are significant.<sup>4,5,8</sup>

Although LVH is associated with several pathological changes in the left ventricular (LV) myocardium that may predispose to ventricular arrhythmogenesis,<sup>9-14</sup> an important aspect is myocardial fibrosis.<sup>12,15-17</sup> Myocardial fibrosis can impair the electrical coupling of cardiomyocytes by separating myocytes with extracellular matrix (ECM) proteins, and its presence in LVH may create a substrate of tissue heterogeneity from which reentrant tachyarrhythmias could arise.<sup>18,19</sup> We have previously reported global myocardial fibrosis and SCD.<sup>20</sup> Although experimental animal models of hypertrophy have demonstrated both an accumulation of collagen in the myocardium and an alteration in the relative abundance of collagen subtypes type I and III,<sup>21-23</sup> these phenomena need to be evaluated in humans with LVH and SCD, especially with

From the Heart Institute, Cedars-Sinai Medical Center (B.K.T., B.T.J., K.R., C.T., A.U.-E., S.S.C.), Los Angeles, CA; the Departments of Pathology (K.G.), Emergency Medicine (J.J.), Oregon Health and Science University, Portland, OR; Cleveland Clinic Foundation (B.K.T.), Cleveland OH; Vancouver Clinic (B.T.J), Vancouver, WA.

**Correspondence to:** Sumeet S. Chugh MD, The Heart Institute, 5702 South Tower, Cedars-Sinai Medical Center, 8700 Beverly Blvd, Los Angeles, CA 90048. E-mail sumeet.chugh@cshs.org

<sup>© 2012.</sup> The Authors. Published on behalf of the American Heart Association, Inc., by Wiley-Blackwell. This is an Open Access article under the terms of the Creative Commons Attribution Noncommercial License, which permits use, distribution, and reproduction in any medium, provided the original work is properly cited and is not used for commercial purposes.

comparison to patients who have LVH and no relationship to SCD (ie, unnatural death). In addition, gap junctions play an integral role in the conductance properties of the myocardium, and alterations in the number and density of connexin 43–labeled gap junctions at the intercalated disc have been reported in human LVH.<sup>24</sup> We characterized the nature and extent of interstitial remodeling in a postmortem evaluation of patients with isolated LVH and SCD, including alterations in the expression of collagen types I and III, as well as distribution of connexin 43–labeled gap junctions. We also screened all cases and controls with LVH for high-risk hypertrophic cardiomyopathy mutations.

#### Methods

#### Ascertainment of Subjects

The Institutional Review Board at the Oregon Health and Science University approved all aspects of this investigation. Residents of Multnomah, Clackamas, and Washington counties, Oregon, who had SCD between February 1, 2002, and June 30, 2005, were identified through multiple sources (the emergency medical response system, the Medical Examiner's office, and 16 area hospitals) as part of an ongoing population-based study of sudden unexpected death (the Oregon Sudden Unexpected Death Study). All cases of SCD from the Portland, Oregon, metropolitan area included in the analysis, as well as the 2 control groups, were required to have a detailed postmortem exam and evaluation by the Medical Examiner's office. At the time of autopsy, full-thickness tissue blocks were obtained from the LV free wall and stored separately in 10% neutral buffered formalin at room temperature and unfixed at −80°C.

#### **Definition of SCD**

SCD was defined as an unexpected death within 1 hour of symptom onset (witnessed) or an unexpected death in which the individual had been observed alive and symptom free 24 hours previously (unwitnessed). If any nonarrhythmic cause of sudden death was discovered at autopsy, the case was excluded.

#### **Definition of Isolated LVH**

Isolated LVH was defined as a heart weight greater than the 95% upper limit of normal when normalized by body weight and sex.<sup>25,26</sup> There had to be an absence of significant coronary artery disease (vessel stenosis >50% or evidence of acute or chronic myocardial infarction), valvular disease, or congenital heart disease, and the hypertrophy had to be without evidence of myocardial disarray on histological exam.



**Figure 1.** Illustration of the postmortem human model with myocardial sections compared among cases (LVH and sudden cardiac arrest), Control Group A (LVH and unnatural death), and Control Group B (nor-

#### **Identification of Cases and Controls**

Cases (LVH+SCD, n=12) were defined as individuals who sustained SCD with evidence of isolated LVH on postmortem exam and without evidence of extracardiac findings that could have contributed to their demise. During the same time period and from the same geographical area, a control group was assembled of individuals who were found to have isolated LVH but who sustained a noncardiac, unnatural death due to conditions such as suicide or trauma (Control Group A, n=18). A second non-LVH control group consisted of individuals who were found to have a normal cardiac exam and sustained a noncardiac, unnatural death (Control Group B, n=6) (Figure 1).

mal controls with unnatural death). CMP indicates cardiomyopathy.

# Screening of Cases and Controls for Mutations in Exons 8, 9, and 11 of *Troponin T* and Exons 13, 14, and 19 of $\beta$ -Myosin Heavy Chain

To ensure that individuals with LVH had isolated myocardial hypertrophy in the absence of sarcomeric gene mutations that are known to be associated with SCD in hypertrophic cardiomyopathy, we screened all patients in LVH+SCD and Control Group A for high-risk hypertrophic cardiomyopathy mutations.<sup>27-29</sup> Accordingly, we sequenced exons 13, 14, and 19 of the  $\beta$ -myosin heavy chain ( $\beta$ MHC) gene and exons 8, 9, and 10 of the troponin T (TnT) gene.<sup>27-29</sup> Amplification of the exon sequences of interest for  $\beta$ *MHC* and *TnT* was performed with allele-specific oligonucleotide probes. In brief, DNA for amplification by polymerase chain reaction was extracted from blood leukocytes. Exons 13, 14, and 19 of the  $\beta MHC$  gene<sup>27</sup> and exons 8, 9, and 10 of the *TnT* gene were amplified by polymerase chain reaction as described previously.<sup>29</sup> Automated sequencing was performed, and DNA sequences were analyzed.

#### **Evaluation of ECM Collagen Composition**

#### **Collagen Volume Fraction**

Formalin-fixed tissue was processed and embedded in paraffin with the use of standard histological techniques. Myocardial sections, 5  $\mu$ m thick, were stained with Picrosirius Red, and birefringent collagen fibrils were viewed under polarized light with a  $40 \times$  objective.<sup>20</sup> Each section was divided into 4 guadrants, and 4 fields were selected randomly within each quadrant. A digitized gray-scale image of the collagen fibrils was obtained, and the area encompassed by the collagen fibrils was determined (ImageTool Version 2.0, Houston, TX). This step was repeated to determine the area of the background myocardium. Percent collagen volume fraction (CVF) was calculated by dividing the area of collagen fibrils by the sum total area of collagen fibrils and myocardium. CVF for each myocardial section was expressed as the average of 16 fields. All sections were stained in batches of case and respective controls. CVF analysis was performed in a randomized, blinded fashion. The intraobserver and interobserver correlations for this method are 0.91 and 0.89, respectively.

#### Type I and Type III Collagen Distribution

Immunohistochemical staining for collagen type I and type III was performed in a subset of tissue samples from LVH+SCD cases, Control Group A, and Control Group B, and semiguantitative measurement of the relative amounts of collagen type I and type III was performed. Fresh, frozen tissue blocks were embedded in Optimal Cutting Temperature medium, and 10- $\mu$ m sections were obtained. A mouse anti-human type I collagen antibody (1:500 dilution, clone I-8H5; ICN Biomedicals, Inc, Aurora, OH) and a rabbit anti-human type III collagen antibody (1:500 dilution; Biodesign International, Saco, ME) were applied to each section separately for 1 hour at room temperature. A mixture of anti-mouse fluorescein isothiocyanate conjugate (1:200, Sigma-Aldrich, Inc, Saint Louis, MO) and anti-rabbit Alexa 594 conjugate (1:2000, Molecular Probes, Inc, Eugene, OR) was then applied to each section for 1 hour. All sections were stained with 0.3% (w/v) Sudan Black in 70% ethanol to quench autofluorescence and were mounted in Gel Mount (Sigma-Aldrich, Inc, Saint Louis, MO). Immunostaining was performed in batches to include cases and respective controls and was blinded and randomized before evaluation.

All sections were analyzed with the use of an API DeltaVision wide-field, optical sectioning microscope and image analysis system (Applied Precision, LLC, Issaquah, WA). With a  $60 \times$  objective, 5 random fields per section were imaged. Ten optical sections (0.5  $\mu$ m thick) were taken in each filter for the fluorescein and Alexa 594 labels. Each optical section underwent deconvolution processing according to the iterative constrained algorithm of Sedat and Agard to reduce out-offocus blur. Gray-scale images of each label were then obtained by compressing the 10 deconvoluted images. Areas of fluorescent-labeled type I and type III collagen were obtained from each of their respective gray compressed images. Areas of background myocardium were obtained, and ratios of type I and type III collagen to background were calculated. The type I : type III collagen ratio was then calculated from these values and presented as an average of 5 fields per subject.

#### Collagen Extraction and Quantification

The purification, digestion of collagen with cyanogen bromide (CNBr), separation of type I and type III collagen by sodium dodecyl sulfate polyacrylamide gel electrophoresis (SDS-PAGE), and quantification by gel scanning was performed as described by Mukherjee and Sen.<sup>30</sup> Type I collagen and type III collagen were separated by SDS-PAGE on a 10% to 20% polyacrylamide gradient gel (Biorad, Hercules, CA) stained with 5% Coomassie Blue-250. Intensities of the Coomassie-stained protein bands were measured by densitometry. The type I : type III collagen ratio was given by the ratio of the intensity of collagen I–band H (CNBr digest fragment 8) and collagen III–band M (CNBr fragments 5 and 9).<sup>30</sup>

## Evaluation of Connexin 43–Labeled Gap Junction Plaques

#### Gap Junction Plaque Morphometry

Frozen tissue blocks of LV myocardium were embedded in Optimal Cutting Temperature medium, and  $10-\mu$ m sections were obtained. A mouse anti-human connexin 43 antibody (1:500, clone P4G9, Fred Hutchinson Cancer Research Center, Seattle, WA) was applied to each section for 1 hour at room temperature. Anti-mouse fluorescein conjugate (1:200, Sigma-Aldrich, Inc, Saint Louis, MO) was then applied for 1 hour at room temperature. All sections were counterstained with 0.3% Sudan Black and mounted as described previously. Immunostaining was performed in batches to include cases and respective controls and was blinded and randomized before evaluation.

With the use of the API DeltaVision wide-field, optical sectioning microscope, 5 to 7 intercalated discs between myocytes were identified *en face*. Optical sections were imaged at 0.2- $\mu$ m thickness through the intercalated disc to capture all labeled gap junction plaques within this disc. All optical sections underwent deconvolution processing as described previously, and a compressed image was obtained. The length ( $\mu$ m) and area ( $\mu$ m<sup>2</sup>) of each gap junction plaque and the cross-sectional area (CSA;  $\mu$ m<sup>2</sup>) of each intercalated disc were measured from the compressed image and presented as an average of 5 to 7 discs. Total surface area (TSA) of gap junction plaques ( $\mu$ m<sup>2</sup>) in each intercalated disc was obtained by adding the individual gap junction plaque areas for each intercalated disc. Percent of gap junction plaque area per intercalated disc was calculated by dividing the TSA of gap junction plaques by the CSA of the respective intercalated disc. The gap junction plaque density ( $\mu m^2 / \mu m^3$ ) was calculated by dividing the TSA of gap junction plaques by the total volume of intercalated disc imaged (measured CSA of intercalated disc multiplied by thickness of intercalated disc).

#### **Statistical Analysis**

All continuous data are reported as mean  $\pm$  standard deviation. Comparisons between the 3 independent patient groups (case group [LVH+SCD] and Control Groups A and B) were performed with the Kruskal-Wallis test to test for the significance of the difference among the distributions (level of significance P<0.05). Age and sex adjustment was performed by nonparametric regression analysis. The Wilcoxon rank-sum test was used to compare the distribution between any 2 independent patient groups. Spearman's method was used to assess correlations between measured values.

#### Results

#### **Patient Characteristics**

Characteristics of all subjects are shown in Table 1. The case group (LVH+SCD) consisted of 12 individuals, 2 female and 10 male, with a median age of 41 years. Control Group A (LVH and unnatural death) consisted of 18 individuals, 5 female and 13 male, with a median age of 46 years. Control group B (normal controls) consisted of 6 individuals, 3 female and 3 male, with a median age of 39 years. There was no significant difference in age between the 3 groups (P=0.21).

#### Heart Weight : Body Weight Ratios

There was a significant difference in the heart weight : body weight ratios between the individual groups of patients analyzed in the study (P=0.001; age- and sex-adjusted P=0.002). There was a significant difference in the heart weight : body weight ratios between cases and Control Group A ( $6.9\pm1.2$  versus  $5.3\pm1.4$  g/kg; P=0.01) and between cases and Control Group B ( $6.9\pm1.2$  versus  $4.2\pm0.3$  g/kg; P=0.004). Although the heart weight : body weight ratio of individuals with LVH and death from noncardiac causes (Control Group A) was higher than that of non-LVH controls (Control Group B) ( $5.3\pm1.4$  versus  $4.2\pm0.3$  g/kg), the difference was not statistically significant (P=0.10).

#### Table 1. Characteristics of Study Subjects

Age/Sex	Heart Weight, g	Body Weight, kg	Heart Weight : Body Weight						
Control Group A (LVH + non-SCD)									
44/Male	600	113	5.31						
33/Male	460	136	3.38						
51/Female	440	127	3.46						
54/Female	400	63	6.35						
48/Male	610	90	6.78						
50/Male	560	113	4.96						
41/Male	550	127	4.33						
37/Female	470	181	2.59						
41/Male	600	81	6.33						
39/Male	490	81	6.05						
24/Male	440	64	6.88						
41/Female	380	52	7.31						
47/Female	500	106	4.72						
56/Male	500	93	5.38						
49/Male	650	98	6.63						
49/Male	510	90	5.67						
35/Male	590	165	3.58						
45/Male	510	81	6.29						
Control group	B (normal control	S)							
34/Male	440	104	4.23						
50/Female	300	77	3.89						
35/Female	300	72	4.17						
29/Female	180	45	4						
43/Male	320	79	4.05						
20/Male	375	77	4.87						
Cases (LVH+S	CD)								
51/Male	710	125	5.68						
41/Male	520	79	6.58						
50/Male	830	129	6.43						
47/Male	800	91	8.79						
18/Male	440	66	6.67						
41/Male	370	46	8.04						
63/Male	880	138	6.38						
40/Female	430	56	7.68						
30/Male	665	103	6.46						
23/Female	750	148	5.07						
49/Male	510	83	6.14						
48/Male	870	95	9.16						



**Figure 2. A,** Myocardial sections showing collagen fibrils stained with Picrosirius Red and viewed under polarized light (40×). Stain A shows a representative section from an individual with LVH+SCD. Stains B and C show representative sections from Control Groups A (LVH + non-SCD) and B (normal control), respectively, with significantly fewer collagen fibrils detectable in the interstitium. **B,** CVF was quantified as percentage of myocardium comprised of collagen fibrils per high-power field. CVF was expressed as mean $\pm$ SD for individuals with LVH+SCD and controls. Subjects with LVH+SCD had significantly greater CVF (3.1 $\pm$ 0.4%) than Control Group A (LVH + non-SCD) and Control Group B (normal control) (*P*=0.006 and *P*=0.007, respectively). There was also a significant difference in mean CVF between the 2 control groups (Control Group A 2.3 $\pm$ 0.4% vs Control Group B 1.6 $\pm$ 0.3%; *P*=0.02).

#### Sequence Analysis

There were no mutations in the coding sequence in exons 8, 9, and 11 of the *TnT* gene or in exons 13, 14, and 19 of the  $\beta$ *MHC* gene in cases with LVH+SCD or in Control Group A when compared to the wild-type coding sequence.

#### ECM Collagen Composition

#### **Collagen Volume Fraction**

CVF was significantly different among the 3 different patient groups: cases  $3.1\pm0.4$ , Control Group A  $2.3\pm0.4$ , and Control Group B  $1.6\pm0.3$  (*P*=0.0002; age- and sex-adjusted *P*=0.0001; Figure 2A and Figure 2B). CVF for cases was different compared to Control Group A (*P*=0.006) and Control Group B (*P*=0.007). There was also a significant difference in



Figure 3. A, Comparisons of immunohistochemical staining for collagen type I (Anti-Type I, fluorescein-green) and type III (anti-Type III, Alexa 594-red) in representative cases (LVH+SCD), Control Group A (LVH + non-SCD), and Control Group B (non-LVH controls). Greatest intensity of staining for type III collagen (green) is seen for a case subject in stain A; significantly less intensity of staining is seen for Control Group A subject in stain B, and the least for Control Group B subject in stain C (predominant staining for collagen type I). Stain D represents a negative control with absence of autofluorescence. B, Semiquantitative measurement of the relative amounts of collagen type III and type I revealed a significant difference in the relative expression of collagen III and collagen I between cases and controls. The type I : type III collagen ratio was expressed as mean±SD for individuals with LVH+SCD and controls. Cases had a lower mean type I : type III collagen ratio ( $0.95\pm0.14$ ) than those of Control Group A  $(1.28\pm0.25)$  and Control Group B  $(1.67\pm0.27)$ ; P=0.003.

CVF between the 2 control groups (P=0.02). There was a moderate correlation between CVF and heart weight : body weight ratio (r=0.66, P=0.0005).

#### Collagen Subtype Distribution

Among the subset of individuals with LVH+SCD whose LV tissue was analyzed by immunohistochemical staining for collagen I and collagen III, there was higher-intensity staining for type III collagen than that observed in Control Group A or Control Group B (Figure 3A). A semiquantitative estimation of the relative amounts of type III and type I collagen in these tissue sections revealed a difference in the relative expression of collagen III and collagen I among cases, Control Group A, and Control Group B (P=0.003; age- and sex-adjusted P<0.0001). Cases had a lower mean type I: type III collagen ratio (0.95±0.14) than that of Control Group A (1.28±0.25) and Control Group B (1.67±0.27) (Figure 3B). No significant correlation between the type I: type III ratio and heart weight : body weight ratio was observed (r=-0.355, P=0.12).

### *Extraction and Quantification of Collagen I and III From LV Myocardium*

Collagen was extracted from 1 g of tissue per subject, which was removed from the LV encompassing the myocardium of 2 representative regions corresponding to the LV lateral wall and the septum, and densitometry is shown in Figure 4A. Densitometric analysis of the collagen subtypes revealed a significant difference in the abundance of collagen III in the LV myocardium of patients with LVH+SCD (cases), Control Group A, and Control Group B (P<0.0001). When expressed as a percentage of the total collagen in the LV myocardium, there was a significant difference in the fraction of collagen type III among the 3 groups of patients (P=0.0001). There was an increase in the fraction of collagen type III in the ECM in individuals with LVH+SCD ( $33.0\pm4.4\%$ ) when compared to Control Group A (20.9±4.3%; P=0.0001) or Control Group B (13.4±3.5%; P=0.004) (Figure 4B). These results are similar to observations from semiguantitative measurements of immunohistochemical analysis of tissue sections of LV myocardium from these patients, shown in Figure 3.

### Connexin 43–Labeled Gap Junction Plaque Distribution

No significant differences were observed in the individual gap junction plaque length or area between cases and controls (Table 2). Although there was a trend toward greater gap junction plaque TSA in cases versus controls, it was not statistically significant (cases  $25.93\pm2.79 \ \mu\text{m}^2$  versus Control Group B  $21.09\pm1.39 \ \mu\text{m}^2$ ; *P*=0.08). The percentage of the CSA of the intercalated disc occupied by the gap junction



**Figure 4. A**, Collagen III and collagen I were extracted by digestion of 1 g myocardium, separated by SDS-PAGE, and stained with Coomassie Blue-250. Representative gel with collagen I-band H (CNBr digest fragment 8) and collagen III-band M (CNBr fragments 5 and 9) is shown. SCA indicates sudden cardiac arrest; MW, molecular weight. **B**, Intensities of the Coomassie-stained protein bands were measured by densitometry. Relative amounts of type III : type I collagen III-band M (CNBr fragment 8). Percent of collagen III compared to the sum of collagen I and collagen III extracted was expressed as mean $\pm$ SD for individuals with LVH+SCD and controls. Percent myocardial collagen type III was significantly higher in cases (LVH+SCD; 33 $\pm$ 4%) than in Control Group A (LVH + non-SCD; 21 $\pm$ 4%; *P*=0.0001) and Control Group B (non-LVH, non-SCD; 13 $\pm$ 3%; *P*=0.004).

plaques remained preserved in cases versus controls, and the density of gap junction plaques in the intercalated disc at the end of each myocyte did not significantly differ between cases and controls. However, when the gap junction plaque surface area in LVH hearts was compared to the myocyte CSA, there was a strong and statistically significant correlation. Increases in myocyte CSA were associated with an increase in connexin 43 gap junction plaque area (r=0.821, P<0.001; Figure 5).

Table 2.	Connexin 4	3-Labeled	Gap	Junction	Distribution
----------	------------	-----------	-----	----------	--------------

	Gap Junction Disc	Gap Junction Disc	Gap Junction	Gap Junction	Gap Junction Plaque
	Length, $\mu$ m $^{*}$	Area, $\mu$ m $^{2\dagger}$	TSA, $\mu { m m}^{2\ddagger}$	%Plaque Area¶	Density, $\mu m^2/\mu m^{3^{**}}$
Cases (LVH+SCD) (n=5)	$0.517\pm0.017$	$0.266\pm0.026$	$25.93 \pm 2.79$	$13.4\pm0.6\%$	$0.0408 \pm 0.0034$
Control Group A (n=7)	$0.520\pm0.015$	$0.234\pm0.012$	$23.02\pm1.40$	$14.7\pm0.7\%$	$0.0463 \pm 0.0043$
Control Group B (n=6)	$\textbf{0.519} \pm \textbf{0.012}$	$0.236\pm0.010$	$21.09 \pm 1.39$	$13.5\pm0.6\%$	$0.0400 \pm 0.0024$

\* † ‡ ¶ \*\*No significant difference (P≥0.08) on comparison of means between Cases vs Control Group A, Cases vs Control Group B, Control Group A vs Control Group B.

#### Discussion

We observed significant and specific alterations in the nature of myocardial interstitial remodeling in LVH+SCD that were not identified in LVH controls or normal controls. In addition to greater normalized heart weight adjusted to body weight, there was an increase in the amount of myocardial fibrosis, quantified as a 1.3-fold increase CVF in individuals with LVH+SCD compared to individuals with isolated LVH and noncardiac death. Specifically, this increase in the amount of collagen was associated with an altered distribution in collagen type I and type III, with a significant increase in the relative abundance of collagen type III. There was an overall increase in the number of connexin 43-labeled gap junctions with increasing myocyte size; however, the density of gap junction plaques per intercalated disc did not change with this increase.



**Figure 5.** Intercalated discs were identified by microscopy, and gap junctions were identified within intercalated discs by immunostaining of connexin 43. CSAs of intercalated discs and gap junctions were quantified from digitized microscopic images. Gap junction plaque area was compared to myocyte CSA. Increasing myocyte size as measured by CSA is associated with increase in gap junction plaque surface area (r=0.821, P<0.001).

A likely strength of this study relates to the design: postmortem access to hearts of subjects who had isolated LVH and SCD and the ability to compare these with hearts from subjects with isolated LVH or normal hearts who had unnatural deaths. Prior autopsy series have demonstrated a prevalence of isolated LVH of  $\approx$ 18% in subjects who sustain SCD.<sup>25</sup> An increase in the incidence of ventricular arrhythmias with LVH has long been documented,<sup>31,32</sup> and LVH is recognized as an independent risk factor for SCD.<sup>1,2</sup> There also appears to be a continuous and graded increase in the occurrence of ventricular arrhythmias with increasing LV mass, 11,33 suggesting an association between the extent of hypertrophy and the risk of arrhythmia. Consistent with these earlier studies, we found that individuals with LVH who sustained SCD manifested a greater degree of hypertrophy, defined by heart weight : body weight ratios, compared to a control group of individuals with LVH and non-SCD.

From the mechanistic standpoint, it has been hypothesized that the increase in the ECM creates an anatomic uncoupling of adjacent myocytes such that zigzag and slow electrical propagation may occur, thereby creating potential sites for reentry.<sup>18</sup> Although increased collagen is expected to be observed in LVH,<sup>34,35</sup> we detected a significant increase in the amount of collagen in individuals with LVH+SCD compared to the LVH controls and normal control groups, which supports the concept that LVH+SCD subjects were more vulnerable to ventricular arrhythmogenesis due to fibrosis-mediated reentry. More importantly, earlier studies were not designed to make these specific comparisons, which have yielded what could be a novel form of remodeling unique to patients with SCD and isolated LVH. Our observation that there is a preferential increase in type III collagen in the myocardium of individuals with LVH who experience SCD suggests that changes in the composition of the ECM may affect the conduction properties of the myocardium and may create conditions conducive for ventricular arrhythmias. Myocardial collagen consists primarily of type I and type III collagen, and in animal models LVH has been shown to be associated with an early increase in the amount of type I collagen with a resultant alteration in the type I : type III collagen ratio.<sup>23,36</sup> Previous studies have demonstrated elevated serum markers of both type I and type III collagen in human hypertensive heart disease,<sup>34,37–39</sup> but there had been a lack of studies identifying the relative tissue distribution of these collagen subtypes in ventricular hypertrophy in humans, especially in the context of SCD. Type III collagen is thought to be the primary isoform that increases within the endomysial weave that surrounds individual myocytes during the development of ventricular hypertrophy,<sup>22</sup> and an increase in the density of this endomysial weave has been documented by scanning electron microscopy.<sup>34</sup> Increasing the lateral cell-to-cell contact may result in alterations in the anisotropic properties of the myocardium and may create the conditions favorable for reentry.<sup>40</sup>

Resident fibroblasts normally found in the myocardium are relatively quiescent, but under conditions of myocardial injury or stress they transdifferentiate into myofibroblast cells that are responsible for the enhanced synthesis of ECM proteins, including collagen I, collagen III, and fibronectin.<sup>41-43</sup> In pathological states such as LVH, there is a dysregulation of myofibroblast removal, and the continued presence of myofibroblasts is thought to result in the sustained synthesis of the ECM proteins and myocardial fibrosis.<sup>44</sup> It is possible that the abnormal collagen remodeling occurs because of proliferation or abnormal function of myofibroblasts in the LVH interstitium. The high secretory capacity of myofibroblasts may disrupt the normal balance between ECM synthesis and degradation, resulting in a rate of collagen deposition that far outweighs the rate of collagen degradation.<sup>45</sup>

Gap junction organization is an important determinant of normal myocardial conduction, in that it allows low-resistance conduction in a longitudinal orientation. It has been shown that alterations in gap junction distribution can affect the anisotropic properties of the myocardium. Previous studies in humans with decompensated LVH have shown a decrease in the relative density of connexin 43 gap junctions at the intercalated disc.<sup>39</sup> Our studies demonstrate that the density of connexin 43 gap junctions at the intercalated disc in individuals with LVH+SCD and in individuals with LVH + unnatural death (Control Group A) is similar. We observed, however, that there was an increase in the number of connexin 43-labeled gap junctions with an increase in the myocyte cross section. These gap junctions could potentially mediate conduction in the transverse orientation. By maintaining the expected number of gap junctions at the intercalated disc, the longitudinal conduction properties in myocardium of individuals with LVH would remain preserved, whereas the transverse conduction properties of the hypertrophied myocytes might be significantly altered.

#### Limitations

This is a retrospective study performed in a small number of patients who sustained SCD or died of noncardiac causes and

who underwent autopsy. Because we have relied on tissue from autopsy for histological characterization of myocardium, the individuals in this study comprise a highly selected group. Given these constraints, cases and controls were not matched for age, sex, or risk factors. The restricted sample size, especially in Control Group B, may have limited our ability to discern a statistically significant difference in normalized heart weight f Control Group A (LVH and death from noncardiac causes). Echocardiographic data was not available from all individuals included in this study, and therefore it is likely that not all individuals studied exhibited concentric LVH. Given these limitations, the observations presented in this study would need to be validated in a larger patient cohort and might need to be tested in other populations.

#### Conclusions

We observed significant and specific alterations in the LV myocardial interstitium of individuals with isolated LVH and SCD, which may contribute to myocardial vulnerability for ventricular arrhythmias and warrant further mechanistic evaluation.

#### Acknowledgments

The authors acknowledge the significant contribution of American Medical Response, Portland/Gresham fire departments, the Multnomah County Medical Examiner's office, and the emergency medicine, cardiology, and primary care physicians and allied health personnel of the 16 area hospitals.

#### Sources of Funding

This study was funded by National Heart, Lung, and Blood Institute Grants R01HL105170 and R01HL088416 to Dr Chugh. Dr Chugh is the Pauline and Harold Price Professor of Cardiac Electrophysiology at the Cedars-Sinai Medical Center, Los Angeles, CA.

#### **Disclosures**

None.

#### References

- Haider AW, Larson MG, Benjamin EJ, Levy D. Increased left ventricular mass and hypertrophy are associated with increased risk for sudden death. *J Am Coll Cardiol.* 1998;32:1454–1459.
- Reinier K, Dervan C, Singh T, Uy-Evanado A, Lai S, Gunson K, Jui J, Chugh SS. Increased left ventricular mass and decreased left ventricular systolic function have independent pathways to ventricular arrhythmogenesis in coronary artery disease. *Heart Rhythm.* 2011;8:1177–1182.
- Levy D, Anderson KM, Savage DD, Balkus SA, Kannel WB, Castelli WP. Risk of ventricular arrhythmias in left ventricular hypertrophy: the Framingham Heart Study. Am J Cardiol. 1987;60:560–565.
- Chugh SS, Reinier K, Teodorescu C, Evanado A, Kehr E, Al Samara M, Mariani R, Gunson K, Jui J. Epidemiology of sudden cardiac death: clinical and research implications. *Prog Cardiovasc Dis.* 2008;51:213–228.
- Fishman GI, Chugh SS, Dimarco JP, Albert CM, Anderson ME, Bonow RO, Buxton AE, Chen PS, Estes M, Jouven X, Kwong R, Lathrop DA, Mascette AM, Nerbonne JM, O'Rourke B, Page RL, Roden DM, Rosenbaum DS, Sotoodehnia N, Trayanova

NA, Zheng ZJ. Sudden cardiac death prediction and prevention: report from a National Heart, Lung, and Blood Institute and Heart Rhythm Society Workshop. *Circulation.* 2010;122:2335–2348.

- Brown DW, Giles WH, Croft JB. Left ventricular hypertrophy as a predictor of coronary heart disease mortality and the effect of hypertension. *Am Heart J.* 2000;140:848–856.
- Gosse P, Dallocchio M. Left ventricular hypertrophy: epidemiological prognosis and associated critical factors. *Eur Heart J.* 1993;14(suppl D):16–21.
- Chugh SS. Early identification of risk factors for sudden cardiac death. Nat Rev Cardiol. 2010;7:318–326.
- Gendron ME, Thorin E, Perrault LP. Loss of endothelial KATP channeldependent, NO-mediated dilation of endocardial resistance coronary arteries in pigs with left ventricular hypertrophy. *Br J Pharmacol.* 2004;143:285–291.
- Meszaros J, Khananshvili D, Hart G. Mechanisms underlying delayed afterdepolarizations in hypertrophied left ventricular myocytes of rats. *Am J Physiol Heart Circ Physiol*. 2001;281:H903–H914.
- Schmieder RE, Messerli FH. Determinants of ventricular ectopy in hypertensive cardiac hypertrophy. Am Heart J. 1992;123:89–95.
- Swynghedauw B. Molecular mechanisms of myocardial remodeling. *Physiol Rev.* 1999;79:215–262.
- Tomita F, Bassett AL, Myerburg RJ, Kimura S. Diminished transient outward currents in rat hypertrophied ventricular myocytes. *Circ Res.* 1994;75:296– 303.
- Yuan F, Brandt NR, Pinto JM, Wasserlauf BJ, Myerburg RJ, Bassett AL. Hypertrophy decreases cardiac KATP channel responsiveness to exogenous and locally generated (glycolytic) ATP. J Mol Cell Cardiol. 1997;29:2837–2848.
- Weber KT. Fibrosis and hypertensive heart disease. Curr Opin Cardiol. 2000;15:264–272.
- Weber KT, Brilla CG. Pathological hypertrophy and cardiac interstitium: fibrosis and renin-angiotensin-aldosterone system. *Circulation*. 1991;83:1849–1865.
- Weber KT, Brilla CG, Campbell SE. Regulatory mechanisms of myocardial hypertrophy and fibrosis: results of in vivo studies. *Cardiology*. 1992;81:266–273.
- Assayag P, Carre F, Chevalier B, Delcayre C, Mansier P, Swynghedauw B. Compensated cardiac hypertrophy: arrhythmogenicity and the new myocardial phenotype, I: fibrosis. *Cardiovasc Res.* 1997;34:439–444.
- El-Sherif N, Scherlag BJ, Lazzara R, Hope RR. Re-entrant ventricular arrhythmias in the late myocardial infarction period, 1: conduction characteristics in the infarction zone. *Circulation*. 1977;55:686–702.
- John BT, Tamarappoo BK, Titus JL, Edwards WD, Shen WK, Chugh SS. Global remodeling of the ventricular interstitium in idiopathic myocardial fibrosis and sudden cardiac death. *Heart Rhythm.* 2004;1:141–149.
- Pardo Mindan FJ, Panizo A. Alterations in the extracellular matrix of the myocardium in essential hypertension. Eur Heart J. 1993;14(suppl J):12–14.
- Pick R, Janicki JS, Weber KT. Myocardial fibrosis in nonhuman primate with pressure overload hypertrophy. Am J Pathol. 1989;135:771–781.
- Weber KT, Janicki JS, Shroff SG, Pick R, Chen RM, Bashey RI. Collagen remodeling of the pressure-overloaded, hypertrophied nonhuman primate myocardium. *Circ Res.* 1988;62:757–765.
- van Veen AA, van Rijen HV, Opthof T. Cardiac gap junction channels: modulation of expression and channel properties. *Cardiovasc Res.* 2001;51:217–229.
- Chugh SS, Kelly KL, Titus JL. Sudden cardiac death with apparently normal heart. *Circulation*. 2000;102:649–654.
- 26. Kitzman DW, Scholz DG, Hagen PT, Ilstrup DM, Edwards WD. Age-related changes in normal human hearts during the first 10 decades of life, Part II (maturity): a quantitative anatomic study of 765 specimens from subjects 20 to 99 years old. *Mayo Clin Proc.* 1988;63:137–146.

- 27. Arbustini E, Fasani R, Morbini P, Diegoli M, Grasso M, Dal Bello B, Marangoni E, Banfi P, Banchieri N, Bellini O, Comi G, Narula J, Campana C, Gavazzi A, Danesino C, Vigano M. Coexistence of mitochondrial DNA and beta myosin heavy chain mutations in hypertrophic cardiomyopathy with late congestive heart failure. *Heart.* 1998;80:548–558.
- Charron P, Dubourg O, Desnos M, Bennaceur M, Carrier L, Camproux AC, Isnard R, Hagege A, Langlard JM, Bonne G, Richard P, Hainque B, Bouhour JB, Schwartz K, Komajda M. Clinical features and prognostic implications of familial hypertrophic cardiomyopathy related to the cardiac myosin-binding protein C gene. *Circulation*. 1998;97:2230–2236.
- Watkins H, McKenna WJ, Thierfelder L, Suk HJ, Anan R, O'Donoghue A, Spirito P, Matsumori A, Moravec CS, Seidman JG, et al. Mutations in the genes for cardiac troponin T and alpha-tropomyosin in hypertrophic cardiomyopathy. N Engl J Med. 1995;332:1058–1064.
- Mukherjee D, Sen S. Collagen phenotypes during development and regression of myocardial hypertrophy in spontaneously hypertensive rats. *Circ Res.* 1990;67:1474–1480.
- McLenachan JM, Henderson E, Morris KI, Dargie HJ. Ventricular arrhythmias in patients with hypertensive left ventricular hypertrophy. N Engl J Med. 1987;317:787–792.
- Messerli FH, Ventura HO, Elizardi DJ, Dunn FG, Frohlich ED. Hypertension and sudden death: increased ventricular ectopic activity in left ventricular hypertrophy. *Am J Med.* 1984;77:18–22.
- Ghali JK, Kadakia S, Cooper RS, Liao Y. Impact of left ventricular hypertrophy on ventricular arrhythmias in the absence of coronary artery disease. J Am Coll Cardiol. 1991;17:1277–1282.
- Rossi MA. Pathologic fibrosis and connective tissue matrix in left ventricular hypertrophy due to chronic arterial hypertension in humans. J Hypertens. 1998;16:1031–1041.
- Tanaka M, Fujiwara H, Onodera T, Wu DJ, Hamashima Y, Kawai C. Quantitative analysis of myocardial fibrosis in normals, hypertensive hearts, and hypertrophic cardiomyopathy. *Br Heart J.* 1986;55:575–581.
- Medugorac I, Jacob R. Characterization of left ventricular collagen in the rat. Cardiovasc Res. 1983;17:15–21.
- Diez J, Laviades C, Mayor G, Gil MJ, Monreal I. Increased serum concentrations of procollagen peptides in essential hypertension: relation to cardiac alterations. *Circulation*. 1995;91:1450–1456.
- Laviades C, Mayor G, Diez J. Treatment with lisinopril normalizes serum concentrations of procollagen type III amino-terminal peptide in patients with essential hypertension. Am J Hypertens. 1994;7:52–58.
- Peters NS, Green CR, Poolewilson PA, Severs NJ. Reduced content of connexin43 gap junctions in ventricular myocardium from hypertrophied and ischemic human hearts. *Circulation*. 1993;88:864–875.
- Spach MS, Boineau JP. Microfibrosis produces electrical load variations due to loss of side-to-side cell connections: a major mechanism of structural heart disease arrhythmias. *Pace.* 1997;20:397–413.
- Long CS, Brown RD. The cardiac fibroblast, another therapeutic target for mending the broken heart? J Mol Cell Cardiol. 2002;34:1273–1278.
- Powell DW, Mifflin RC, Valentich JD, Crowe SE, Saada JI, West AB. Myofibroblasts, I: paracrine cells important in health and disease. *Am J Physiol.* 1999;277:C1–C9.
- 43. Sun Y, Weber KT. Infarct scar: a dynamic tissue. *Cardiovasc Res.* 2000;46:250–256.
- 44. McAnulty RJ. Fibroblasts and myofibroblasts: their source, function and role in disease. Int J Biochem Cell Biol. 2007;39:666–671.
- Berk BC, Fujiwara K, Lehoux S. ECM remodeling in hypertensive heart disease. J Clin Invest. 2007;117:568–575.